Count fo ols me’&ca Gewnaly, 31/5/2021 [Heq
'l)fcx) 377 = 8"’ ’( €.¢:x30. kuww L0 = JE*',LM _F[,()zfé“/

X--00 XP+60
,ng fcx)~+oo O ﬁ()() o¥ ECx)>O Vx#0 .
xopot
é_«_g&_lw :
@l(x)z )A?z'ez Xyo0 ¥xeCE. o
A 4 A4 A1
“AN % ARAL IR LN Ves==7"- - - rem s m o
f=-2 = (a0 c
<4 O\ 1 Z 7\ ' N
w/ X\L —bL—i H—" :‘- D
bR
2) Lw sen(sendx) ﬂwim(sww) Senldx 3x ¢ S 2K _,13 4423,
XDo sew (Sew2) >(4>o Sw3X 3K 3x Stuzx few (sea ) 2 Z
o

Fora (0P B (s e a0 <l

XD4+0o \ Lext XD+ 24x*

3) Lue Axkcx™ :/?A‘w'ﬁ'_‘:_K.’{.;/( ce =0 e lk=-2.

X-b 400 3-?4"4-'44)(3 X~ 00 3_z>(

=3 (py2)
=) F"i 5 \/A (pﬁx.z) GG = g(gm) e K+ -x& =) 6‘)(+&—916% =) x—%,. 2‘8
—cas?ax—.isw.b(

N G = __. ,(%)(-4)
; (5 ﬂ-.:;-e)-(-%-‘«-*z»%;

5)j Sew 3N - C:n?,xobx (‘
X)) = . '(X) - 3x = )(3»3}/. = l X)) = -
6) ¢ (£ % 58(e™) ,_}7__3x->2 (200) = 3

K

¥) f o) =2X5-3XL—4~9/’<+&3—:3" . VE0cm) =(0;90)
{)‘( = QP -6~ =6 (x2X-2) =6 (x+)(x-2)= 0 .
:€(1=‘4~‘4J63=&(A—-113):o =



Ha2)

-->%i;i}‘ui o e[
o8 IS st 5 i
&) =(A+®)- C-X <“2 A\ \ 255 j{

% 0 \404\ \ 34+o,y,30+a(—«)31+oo\ f‘ )
3 2 |||a-to 34+29 30+.2(—1) 34 +2:0 -4 -
i3 0 3 3-4+0-4+3.(-9) un

‘\ -2 3 “1 4+(—z)4+3(—¢)\ \\ \\=‘/=> [71 ==
4) A B (A oB|BeA|uo(BeA) (-08) 5 uae (Be A)| o AlaonB|now Ao wos B

A4 A4 | A4 (o) o) ') o o

Ao0olA | o A ) o | A A

oAl4A | o A A A o 1

ool o |l o 1 1 A | A A

P4 Pa

A IP'OM Woui Py tP,_ AU s\ ouus mkbx,loawwﬁ Q?,«»LV‘M.

A0) :f( x)=e’"; :?26:):8-)(. ‘jﬁwc%dmcaufﬁawidab Aatla
denivalon caloobaln sl juto Dueaelte i cocffledects ourpotors mua 4
e m, nouwd perfuoicofari se My e al, = 4. Dol la

{_ 0 = eX, g )= —~e "-:-—-g:,-( N VX:_ﬁ‘Cx)-%:cx\:..A

Mgm; eX. (,_. 2-4 e guivek L adke foudadh ol prakiel i
w‘(cmwm rovo feuslicton. Vx € IR.



